2.1 By definition
$$A \in D_{raff} : Verticion D_{0} Down Down Down Down Diverted from the key net
To express $A \neq B$ in terms of $\vec{b}_{1} = \vec{b}_{2} = \vec{b}_{3} \neq \Lambda$ and \vec{s} , I must evaluate $A \neq \vec{b}_{1} = 1 + \sigma 3$
Note (given in the problem) $A \neq \vec{b}_{1} = \vec{b}_{1} \cdot \vec{s}$ for $i = 1, 2, 3$
 $A \neq B = \vec{b}_{1} \left(-\frac{\vec{b}_{1}}{\rho} + \lambda \vec{b}_{3} \right) \cdot \vec{s} \cdot \vec{b}_{3} + \vec{b}_{2} \left(-\lambda \vec{b}_{2} \right) \cdot \vec{s} \cdot \vec{b}_{1} + \vec{b}_{3} \left(\frac{\vec{b}_{2}}{\rho} \cdot \vec{s} \right) \cdot \vec{b}_{3}$
Note that since $\vec{b}_{1}, \vec{b}_{3}, \vec{b}_{3}$ are orthogonal, dot product $\vec{n} \neq \vec{b}_{1} \cdot \vec{b}_{1}$ for $i \neq j$ equals O
 $A \neq B = \vec{b}_{1} \left(\lambda \cdot \vec{s} \right) + \vec{b}_{3} \cdot \vec{s}$$$

$$\begin{aligned} 2.2 \quad A_{ijk} B_{i} = E_{i}^{i} \frac{A_{i}E_{j}^{i}}{dt} \cdot E_{j}^{i} + E_{k}^{i} \frac{A_{i}E_{j}^{i}}{dt} \cdot E_{j}^{i} + E_{k}^{i} \frac{A_{i}E_{j}^{i}}{dt} \cdot E_{k}^{i} \\ \alpha_{2}^{i} = take the \vec{A}_{3}^{i} components of \vec{B}_{i}^{i} for $i=1,2,3$

$$= \left[\frac{A_{i}E_{j}^{i}}{dt} \cdot E_{j}^{i} \left(C_{3}S_{3}\right) + \frac{A_{i}E_{k}^{i}}{dt} \cdot E_{i}^{i} \left(S_{3}S_{2}S_{3}+C_{2}C_{1}\right) + \frac{A_{i}E_{j}^{i}}{dt} \cdot E_{2}^{i} \left(C_{3}S_{3}S_{3}-C_{3}S_{1}\right)\right]$$
Note:

$$\frac{A_{i}E_{j}^{i}}{dt} = \left(-S_{2}C_{3}g_{i}^{i} - C_{2}S_{3}g_{k}^{i}\right)\vec{a}_{i}^{i} + \left(-S_{2}S_{2}g_{k}^{i} + C_{2}C_{3}g_{3}\right)\vec{a}_{2}^{i} + \left(-C_{2}g_{3}\right)\vec{a}_{3}^{i} + \frac{A_{i}E_{j}^{i}}{dt} - \frac{A_{i}E_{j}^{i}}{dt}\right] = \left(-S_{2}C_{3}g_{i}^{i} - S_{2}C_{3}g_{i}^{i} - S_{2}S_{3}g_{k}^{i} - C_{3}C_{i}g_{k}^{i} + S_{3}S_{i}g_{k}^{i}\right)\vec{a}_{1}^{i} + \left(-S_{2}S_{2}g_{k}^{i} + S_{2}S_{3}g_{k}^{i} - C_{3}C_{3}g_{i}^{i}\right)\vec{a}_{2}^{i} + \left(-C_{2}g_{i}^{i} - S_{5}S_{2}g_{k}^{i}\right)\vec{a}_{3}^{i} + \left(-S_{2}C_{3}g_{i}^{i} - S_{3}C_{3}g_{k}^{i} - S_{3}C_{3}g_{k}^{i} - C_{3}S_{i}g_{k}^{i}\right)\vec{a}_{4}^{i} + \left(-S_{2}S_{2}g_{k}^{i} - S_{2}S_{3}g_{k}^{i} - S_{3}G_{k}g_{k}^{i}\right)\vec{a}_{4}^{i} + \left(-S_{2}S_{3}g_{k}^{i} + S_{2}S_{3}g_{k}^{i} + S_{3}S_{4}g_{k}^{i}\right)\vec{a}_{4}^{i} + \left(-S_{2}S_{3}g_{k}^{i} + S_{2}S_{3}g_{k}^{i} + S_{3}S_{4}g_{k}^{i}\right)\vec{a}_{4}^{i} + \left(-S_{2}S_{3}g_{k}^{i} + S_{3}S_{4}g_{k}^{i} + S_{3}S_{4}g_{k}^{i}\right)\vec{a}_{4}^{i} + \left(-S_{2}S_{2}g_{k}^{i} + S_{2}S_{3}g_{k}^{i} + S_{3}S_{4}g_{k}^{i} + S_{3}S_{4}g_{k}$$$$

2.3
$$p_{nk}^{2} = p_{1}^{2} \frac{d_{1}}{d_{2}} - q_{1}^{2}$$
 Draft var son i Dován odded from lukesy.net
we need F_{1}, F_{2}, F_{3} in terms of $\vec{d}, \vec{d}_{2}, \vec{d}_{3}$
 $\vec{f}_{1} = c_{1} \vec{d}_{1}, \vec{d}_{1}, \vec{f}_{2}, \vec{f}_{3}$ in terms of $\vec{d}, \vec{d}_{2}, \vec{d}_{3}$
 $\vec{f}_{1} = c_{1} \vec{d}_{1}, \vec{d}_{1}, \vec{f}_{2}, \vec{f}_{3}$ is $\vec{d}_{1} + c_{1} \vec{d}_{3}$
 $\vec{f}_{2} = c_{2}$ $\vec{d}_{1} - s_{1}, \vec{d}_{3}$ \vec{f}_{3} $\vec{f}_{4} - s_{1}, \vec{d}_{3}$
 $\vec{f}_{3} = c_{2} c_{1} \vec{d}_{1} + s_{1} \vec{c}_{3}$ $\vec{d}_{1} + c_{1} \vec{d}_{3}$ $\vec{f}_{3} = s_{1}, \vec{d}_{4} + c_{1} \vec{d}_{3}$
 $\vec{f}_{3} = c_{1} c_{2} \vec{d}_{1} - c_{2} s_{1} s_{2} \vec{d}_{3} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = c_{1} c_{2} \vec{d}_{1} - c_{2} s_{1} s_{2} \vec{d}_{4} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = c_{1} c_{2} \vec{d}_{3} \vec{d}_{4} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = -s_{1} c_{1} c_{2} \vec{d}_{4} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = -s_{1} c_{1} c_{2} \vec{d}_{4} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = -s_{1} c_{1} c_{2} \vec{d}_{3} + c_{2} \vec{d}_{3} \vec{d}_{3}$
 $\vec{f}_{3} = -s_{1} c_{2} c_{3} \vec{d}_{4} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = -s_{1} c_{2} c_{3} \vec{d}_{4} + c_{2} \vec{d}_{3}$
 $\vec{f}_{3} = -s_{1} c_{2} c_{3} \vec{d}_{4} + c_{2} \vec{d}_{3} \vec{d}_{4}$
 $\vec{f}_{3} = -s_{1} c_{2} c_{3} \vec{d}_{4} + c_{2} s_{1} \vec{d}_{4}$
 $\vec{f}_{4} = (-s_{1} c_{2} c_{1} c_{3} c_{3} c_{3} + s_{1} s_{1} s_{2} s_{1} c_{3} + c_{3} s_{1} s_{2} \vec{d}_{4}$
 $\vec{f}_{4} = (-s_{1} c_{2} c_{1} c_{3} c_{1} c_{3} + s_{1} s_{2} s_{1} s_{2} c_{1} - c_{2} c_{2} c_{3} c_{1} c_{1} + s_{2} c_{2} c_{3} c_{3} c_{1} + c_{3} s_{3} \vec{d}_{4}$
 $\vec{f}_{4} = (-s_{1} c_{2} c_{1} c_{3} c_{3} s_{1} s_{3} s_{1} \vec{d}_{4} - s_{1} s_{2} s_{1} s_{3} \vec{d}_{4} + s_{2} s_{2} s_{3} \vec{d}_{4} + s_{3} s_{3} s_{3} \vec{d}_{4} + s_{4} s_{3} s_{3} \vec{d}_{5} \vec{d}_{5} s_{5} \vec{d}_{5} \vec{d$

• Solve for
$$w_1 \ge A \overrightarrow{w}^p \cdot dw$$

 $A \overrightarrow{w}^p = A \overrightarrow{w}^B + B \overrightarrow{w}^c + c \overrightarrow{w}^p = q_1 \overrightarrow{b_1} + q_2 \overrightarrow{c_2} + q_3 d\overline{3}$
 $= cq_2 cq_3 q_1 d\overline{a} - cq_2 sq_3 q_1 d\overline{a} + sq_2 q_1 d\overline{3} + sq_3 q_2 d\overline{a} + cq_3 q_2 d\overline{a} + q_3 d\overline{3}$

$$W_{1} = Cq_{2} Cq_{3} g_{1} + Sq_{3} g_{2}$$

$$W_{2} = -Cq_{2} Sq_{3} g_{1} + Cq_{3} g_{2}$$

$$W_{3} = g_{3} + Sq_{2} g_{1}$$



$$\sum_{k=1}^{n} \sum_{i=1}^{n} \sum_{$$

2.5 Note:

Draft version. Downloaded from lukesy.net

Approach 1: $d(\vec{b_1},\vec{b_2}) = 0$ since $\vec{b_1}$ and $\vec{b_2}$ are fixed in a rigid body B $\vec{\beta}_1 \cdot \vec{\beta}_2 + \vec{\beta}_1 \cdot \vec{\beta}_2 = 0 \implies \vec{\beta}_1 \cdot \vec{\beta}_2 = -\vec{\beta}_1 \cdot \vec{\beta}_2$ 0 prop. of X and . $\vec{B}_2 \cdot (\vec{W} \times \vec{B}_1) = \vec{B}_1 \cdot (\vec{B}_2 \times \vec{W}) = W \cdot (\vec{B}_1 \times \vec{B}_2)$ Approach 2 golden rule Add = WXB $() \quad \overrightarrow{b_2} \cdot \overrightarrow{b_1} = \overrightarrow{b_1} \cdot (-\overrightarrow{b_2}) = -\overrightarrow{b_1} \overrightarrow{b_2}$ TX KS X W = - WX KS Given eq (assume all variables below are vectors) $\frac{1}{2}\left(\frac{\dot{\beta_1}\times\dot{\beta_2}}{\dot{\beta_1}\cdot\beta_2}+\frac{\dot{\beta_2}\times\dot{\beta_1}}{\dot{\beta_2}\cdot\beta_1}\right)=\frac{1}{2}\left(\frac{\dot{\beta_1}\times\dot{\beta_2}}{\dot{\beta_1}\cdot\beta_2}+\frac{-\dot{\beta_1}\times\beta_2}{-\dot{\beta_1}\cdot\beta_2}\right)$ = BixB2 B1/2 00

istur destructué unitadeunières à positie villagé releafé to implication de la lairaine, la fairignai raite destrictées y fairuite de contracte foil en una fuit. Sub la contracte de la contraction de legendent unité l'antre due restaurant vérant part pai l'ant contracte and de contracte de la contract contracteurs au contribute grans course faire

Top Things To De

- Picture by the core toppin Greek
- Description of the second se Second secon second sec

al light to report the dependence of the first of the fir

formers of he hard call the othersets of make your least muchants at the antipate

Revisance can aspect when the R

Provide a strategy second and stategy was shown in the second state of the second stategy was shown in the second stategy w

Draft version. Downloaded from lukesy.net attempt#1 2.6 the man that $\frac{d\vec{r}}{dt} = \frac{d\vec{p}}{dt} + \frac{d\vec{q}}{dt}$ = $\vec{b}_1 + \vec{q}_1 \vec{b}_1 + \vec{q}_2 \vec{b}_2 + \vec{q}_3 \vec{b}_3 \times \vec{b}_3$ wrong because the derivative is in reference frame A attempt # 2 7 = 24 A - 24 $= \overrightarrow{b_1} + \overrightarrow{b_2} \times \overrightarrow{q}$ = \overrightarrow{b_1} + (- \overrightarrow{s_q}) \overrightarrow{b_1} + (- \overrightarrow{s_q}) \overrightarrow{b_2} + (+ \overrightarrow{s_q}) \overrightarrow{b_2} + (+ \overrightarrow{s_q}) \overrightarrow{b_2} $\frac{dF}{dt} = \frac{Adp}{dL} + \frac{Adq}{dt}$ Note O that $\vec{b}_1 = \frac{A_d \vec{p}}{ds}$ multiply \vec{s} on both sides gives $v\vec{s} \cdot \vec{b}_1 = \frac{d\vec{p}}{dt}$ Note (a) Adig = $\frac{B}{dq} + A B \times q$ where $A B = ASD_1 + SD_3$ (from setting part) $= q_{1}\overline{b}_{1} + q_{2}\overline{b}_{2} + q_{3}\overline{b}_{3} + \left(-\frac{s}{\rho}q_{2}\right)\overline{b}_{1} + \left(\frac{s}{\rho}q_{1} - Asq_{3}\right)\overline{b}_{2}$ $+(\lambda sq_2)\vec{b}_3$ $\frac{A_{dr}}{db} = \left(\hat{g}_1 + \dot{s}\left(1 - \frac{g_2}{p}\right)\right)\vec{b}_1 +$ $\left(\dot{q}_2 + \dot{s}\left(\frac{q_1}{p} - \chi q_3\right)\right)\vec{b}_2 +$ $(\dot{q}_3 + \lambda \dot{s} q_2) \vec{b}_3$

2.7
Draft version. Downloaded from lukesy net
At
$$C = q_1 \ \overline{a_z} - q_2 \ \overline{b_1} + q_3 \ \overline{b_3} \quad (a \text{ which } y \text{ observation})$$

a) To solve for $G_1 \ G_2 \ G_3$ we must express $\overline{a_z}$ in terms of $\overline{b_1} \ \overline{b_3} \ \overline{b_3}$
At $C = -q_2 \ \overline{b_1} + (q_1 \ q_2) \ \overline{b_z} + (q_3 + q_1 \ sq_3) \ \overline{b_3}$
 $f_3 = q_2 = -U_1 \quad (f_1 = q_1 = ac \ q_2 \ U_2 \quad b = f_3 = q_3 = U_3 - fan \ q_2 \ U_2$
 $f_3 = q_2 = -U_1 \quad (f_1 = q_1 = ac \ q_2 \ U_2 \quad b = f_3 = (u_3 - u_1 \ q_2) \ \overline{b_2} + (q_3 + q_1 \ sq_3) \ \overline{b_3} \quad \overline{b_3} \quad \overline{b_4} \quad \overline{b_5} \quad \overline{b_5} \quad \overline{b_5} \ \overline{b_5} \quad \overline{b_5} \quad \overline{b_5} \quad \overline{b_5} \ \overline{b_5} \quad \overline{b$

$$F_1 = \hat{q}_1 = U_z = (u_x s q_1 - u_y c q_1) \tan q_2$$

Draft version. Downloaded from lukesy.net

$$A_{ij}B_{ij}B_{ij}=\dot{q}_{ij}\overline{q}_{2}^{2}-\dot{q}_{2}\overline{b}_{i}$$
Following the sol'n from 2.7 we get

$$A_{ij}B_{ij}B_{ij}=-\dot{q}_{2}\overline{b}_{i}^{2}+(\dot{q}_{i}q_{2})\overline{b}_{2}^{2}+(\dot{q}_{i}sq_{2})\overline{b}_{3}^{2}$$

$$+c Express \quad \dot{q}_{1}sq_{2} \text{ in terms of } u_{1}u_{2}u_{3} \text{ where } u_{1}^{2}=-\dot{q}_{2}^{2}u_{2}^{2}=\dot{q}_{1}q_{2}^{2}$$

$$\dot{q}_{1}sq_{2}^{2}=\dot{q}_{1}q_{2}\frac{sq_{2}}{q_{2}^{2}}=u_{2}\tan q_{2}$$
Hence

$$A_{ij}B_{j}=u_{1}\overline{b}_{1}^{2}+u_{2}\overline{b}_{2}^{2}+u_{2}\tan q_{2}\overline{b}_{3}$$

$$d_{ij}B_{j}=u_{1}\overline{b}_{1}^{2}+u_{2}\overline{b}_{2}^{2}+u_{2}\tan q_{2}\overline{b}_{3}$$

$$Q_{1}^{Q_{1}} A_{mb}^{B} = (q_{1}^{A} q_{2}^{B} q_{2}^{B} q_{2}^{B} q_{3}^{B} q_{3}^$$

$$\begin{array}{l} \sqrt{2} \cdot 10 \\ A_{\overrightarrow{a}} = \underbrace{A_{\overrightarrow{a}} A_{\overrightarrow{a}} C}_{dt} = \underbrace{A_{\overrightarrow{a}} \left(\underbrace{u_{x} \overrightarrow{a_{x}} + u_{y} \overrightarrow{a_{y}} + u_{z} \overrightarrow{a_{z}}}_{dt} \right)}_{dt} \\ = \underbrace{u_{x} \overrightarrow{a_{x}} + u_{y} \overrightarrow{a_{y}} + u_{z} \overrightarrow{a_{z}}}_{dt} \\ A_{\overrightarrow{a}} = \underbrace{A_{\overrightarrow{a}} A_{\overrightarrow{a}} C}_{dt} = \underbrace{A_{\overrightarrow{a}} \left(\underbrace{u_{x} \overrightarrow{a_{x}} + u_{y} \overrightarrow{a_{y}} + u_{z} \overrightarrow{a_{z}}}_{dt} \right)}_{dt} \\ A_{\overrightarrow{a}} = \underbrace{A_{\overrightarrow{a}} A_{\overrightarrow{a}} C}_{dt} = \underbrace{A_{\overrightarrow{a}} A_{\overrightarrow{a}} C}_{dt} + A_{\overrightarrow{a}} \underbrace{B_{x}}_{a} A_{\overrightarrow{a}} C}_{dt} \\ A_{\overrightarrow{a}} = \underbrace{U_{x} \overrightarrow{a_{x}} + u_{y} \overrightarrow{a_{y}}}_{dt} + A_{\overrightarrow{a}} \underbrace{B_{x}}_{a} A_{\overrightarrow{a}} C}_{dt} \\ A_{\overrightarrow{a}} = \underbrace{U_{x} \overrightarrow{a_{x}} + u_{y} \overrightarrow{a_{y}}}_{dt} + A_{\overrightarrow{a}} \underbrace{B_{x}}_{a} A_{\overrightarrow{a}} C}_{A_{\overrightarrow{a}} C} \\ A_{\overrightarrow{a}} = \underbrace{U_{x} \overrightarrow{b_{x}} + u_{z} \overrightarrow{b_{z}}}_{dt} + u_{z} \underbrace{U_{z}}_{a} + u_{z} \underbrace{U_{z}}_$$

$$\begin{aligned} 2.11 \quad \lim_{w \to \infty} c = \dot{q}_{1} \quad \dot{d}_{x} \quad \Rightarrow \quad \overset{h}{\partial x} c = \frac{L}{dL} \quad \dot{d}_{x} = \dot{q}_{1} \quad \dot{d}_{x} \quad \Rightarrow \quad \overset{h}{\partial x} c = \dot{q}_{1} \quad \dot{d}_{x} \quad \Rightarrow \quad \overset{h}{\partial x} c = \dot{q}_{1} \quad \dot{d}_{x} \quad \Rightarrow \quad \overset{h}{\partial x} c = \dot{q}_{1} \quad \dot{d}_{x} = \dot{q}_{1} \quad \dot{d}_{x} \\ c_{w}^{R} = \dot{q}_{2} \quad \dot{c}_{2} \quad \Rightarrow \quad \overset{h}{\partial x} c = \dot{c} \quad \overset{h}{\partial x} c = \dot{q}_{2} \quad \dot{c}_{2} \quad \Rightarrow \quad \overset{h}{\partial t} c = \dot{c} \quad \dot{d}_{x} \quad \vdots \quad \dot{q}_{2} \\ \vdots \quad \overset{h}{\partial x} \quad & = \dot{q}_{1} \quad \dot{d}_{x} + \dot{q}_{2} \quad \dot{c}_{2} \quad & \text{hote} \quad \vdots \quad \dot{c}_{2}^{2} = -cq_{1} \quad \dot{d}_{2} + cq_{1} \quad \dot{d}_{y} \\ & = \dot{q}_{1} \quad \overset{h}{\partial x} + \dot{q}_{2} \quad cq_{1} \quad \dot{d}_{x} \quad & \dot{q}_{2} \quad qq_{1} \quad \dot{d}_{z} \\ \overset{h}{\partial t} \quad & \overset{h}{\partial t} \quad & \dot{d}_{x}^{R} = \dot{q}_{1} \quad \dot{d}_{x} + \dot{q}_{2} \quad cq_{2} \quad & \text{hote} \quad \vdots \quad \dot{c}_{2}^{2} = -cq_{1} \quad \dot{d}_{z} + cq_{1} \quad \dot{d}_{y} \\ & = \dot{q}_{1} \quad \overset{h}{\partial x} + \dot{q}_{2} \quad cq_{1} \quad \dot{q}_{2} \quad qq_{1} \quad \dot{d}_{z} \\ & = \dot{d}_{1} \quad \overset{h}{\partial w} \quad & \dot{d}_{x} \quad & \dot{d}_{x} \quad & \dot{q}_{2} \quad cq_{1} \quad \dot{d}_{y} \quad & \dot{q}_{y} \quad \dot{q}_{y} \quad \dot{q}_{y} \\ & = \dot{d}_{1} \quad \overset{h}{\partial w} \quad & \dot{d}_{x} \quad & \dot{d}_{x}^{R} = \dot{q}_{1} \quad \dot{d}_{x} + \dot{q}_{2} \quad cq_{1} \quad & \dot{q}_{2} \quad qq_{1} \quad \dot{d}_{x} \quad & \dot{q}_{1} \quad \dot{q}_{y} \quad \dot{q}_{y} \\ & = \dot{d}_{1} \quad \overset{h}{\partial w} \quad & \dot{d}_{x} \quad &$$

Draft version. Downloaded from lukesy.net

Draft version. Downloaded from lukesy.
A
$$\overrightarrow{B}_{3}^{B_{3}} = -G \overrightarrow{k} \operatorname{rad/S}$$

A $\overrightarrow{d}_{5}^{B_{3}} = -G \overrightarrow{k} \operatorname{rad/S}$
Determine $\overrightarrow{A} \overrightarrow{B}_{1} = -G \overrightarrow{k} \operatorname{rad/S}$
Determine $\overrightarrow{A} \overrightarrow{B}_{1} = -G \overrightarrow{k} \operatorname{rad/S}$
 $\overrightarrow{B}_{1} = -G \overrightarrow{k} \operatorname{rad/S}$
 $\overrightarrow{B}_{1} = -G \overrightarrow{k} \operatorname{rad/S}$
 $\overrightarrow{B}_{1} = -G \overrightarrow{k} \operatorname{rad/S}$
 $\overrightarrow{B}_{2} = -G \overrightarrow{k}$
 $\overrightarrow{B}_{2} = -G \overrightarrow{k}$
 $\overrightarrow{B}_{3} = -G \overrightarrow{k}$

From eq
$$10\beta_1 + 9\beta_2 + 4\beta_3 + 5\beta_4 = 0$$
, derive with t
 $\Rightarrow 10(w_1\beta_1') + 9w_2\beta_2 + 4w_3\beta_3 = 0 \Rightarrow \text{this gives us 2 eq.}$
 $\Rightarrow 0-10w_1(\frac{4}{5})\uparrow + 4w_3\uparrow = 0 \Rightarrow \text{given } w_3 = -6$, $w_1 = -31$ rad/s
 $\Rightarrow 10w_1(\frac{3}{5})\uparrow - 9w_2\uparrow = 0 \Rightarrow w_2 = -2 \neq \text{rad/s}$
 $A = \frac{10}{10} \frac{B_1}{10} = -3 \text{ k rad/s}$
 $A = -3 \text{ k rad/s}$

Derive eq (1) with to to again

$$10 \alpha_1 \vec{\beta_1} + 10 w_1^2(-\vec{\beta_1}) + 9 \alpha_2 \vec{\beta_2} + 9 w_2^2(-\vec{\beta_2}) + 4 \alpha_3 \vec{\beta_3} + 4 w_3^2(-\vec{\beta_3}) = 0$$

(1) $\alpha_1 \vec{\beta_1} + 10 w_1^2(-\vec{\beta_1}) + 9 \alpha_2 \vec{\beta_2} + 9 w_2^2 + 4 \alpha_3 = 0 \Rightarrow \alpha_3 = \frac{29}{2} \text{ rod/set}$
(1) $\alpha_1 (-\frac{4}{5}) - 10 w_1^2 (\frac{3}{5}) + 9 \alpha_2 + 4 w_3^2 = 0 \Rightarrow \alpha_3 = \frac{29}{2} \text{ rod/set}$
(1) $\alpha_1 (\frac{3}{5}) - 10 w_1^2 (\frac{4}{5}) - 9 \alpha_2 + 4 w_3^2 = 0 \Rightarrow \alpha_2 = \frac{34}{3} \text{ rod/set}$
(1) $\alpha_1 (\frac{3}{5}) - 10 w_1^2 (\frac{4}{5}) - 9 \alpha_2 + 4 w_3^2 = 0 \Rightarrow \alpha_2 = \frac{34}{3} \text{ rod/set}$
(1) $\alpha_1 (\frac{3}{5}) - 10 w_1^2 (\frac{4}{5}) - 9 \alpha_2 + 4 w_3^2 = 0 \Rightarrow \alpha_2 = \frac{34}{3} \text{ rod/st}$